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LANGUE VIVANTE I                      Epreuve du 1er groupe 
 

ANSWER KEY 
 

I- COMPREHENSION:   (8 marks) 
A- English equivalent:       (1 x 1 = 1 mark) 

1. They accuse national and local authorities of having shown a total lack of transparency 
B- Information transfer:       (0.5 x 4 = 2 marks) 

2. cleaning up the country   3. achieving the government’s Zero Waste Program goals 
  4. the insalubrity      5. the anarchic occupation of the streets   

C- Cloze passage:       (0.5 x 4 = 2 marks) 
6. urban        7. vendors         8. compensation        9. counterproductive 

D-  False statements / Justifications:     (1 x 2 = 2 marks) 
10. They accuse national and local authorities …having failed to include street vendors 

so far in the decision-making process. 
11. Yet, numerous case studies conducted have shown that forced evictions are  

counterproductive.  
E- References:        (0.5 x 2 = 1 mark) 

12. street vendors.         

13. financial compensation  
 

II- LINGUISTIC AND COMMUNICATIVE COMPETENCE:   (6 marks) 
 

F- Word derivation:       (0.5 x 4 = 2 marks) 
14. solve             15. relocation               16. defensive         17. Questionable 

G- Dialogue completion :       (0.5 x 4 = 2 marks) 

18. measures / decisions   19. Any relevant answer    20. planning   21. Any relevant 
answer 

H- Using prepositions       (0.5 x 4 = 2 marks) 
22. from                23. with                 24. in              25. for 

III- WRITING:   (6 marks) 

-  Presentation:                      (1 mark) 
- Topic understanding:     (1 mark) 
- Coherence:      (1 mark) 
- Relevance:      (1 mark) 
- Accuracy:      (1 mark) 
- Originality:      (1 mark) 
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